Math201.15, Quiz # 2, Term 181
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1. [2 points] Find parametric equations for the line that passes through
(2,—1,4) and is perpendicular to the plane 2x — y + 5z = 10.
2. [3 points] Identify (name, center, axis) and sketch the surface
2
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Jy+x?
a. Find and sketch the domain of f.

b. Find an equation for the level curve of f that passes through the
point (0,1). Sketch the level curve.

3. [2.5 points] Let f(x,y) =

xXy+x—4y?—4y

4. [2.5 points] Find the limit if it exists: lim
g ! (xy)-(41) x—2Vxy
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1. [2.5 points] Find the point of intersection, if it exists, between the
following two lines:
Li:x=2-%, y=1-3t, z=5+5t
L:x =125, y=4+s, z=-12+5s.
2. [2.5 points] Identify (name, vertex, axis) and sketch the surface

z2+1=2x%+3y%? — 6y + 4.

3. [2.5 points] Let f(x,y) = In(x3 — y).
a. Find and sketch the domain of f.
b. Find an equation for the level curve of f that passes through the
point (1, —1). Sketch the level curve.

. : e . (x+y)?
4. [2.5 points] Find the limit if it exists: lim ——.
(x,¥)-(0,0) X3 +y3
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